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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered. to. ‘
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Q1. FraferRaa wwai #§ & Ueke TT I I 150 IS5 | G

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

LRNA-F-COMA

sm-aTe SfEd IR R B @ 2 fed sl g fe-fee ofifeufe ® &
SRR o6t Trifira femam moaeRar @ 2

What are Sweat Equity Shares ? Under what conditions can these

shares be issued by a company ?

nfafafenufa are-fufor (THd) = dd R 2 wHtd. el Fa
forfir worfifa w1 wmefa et 2 2

What is Activity-Based Costing (ABC) ? How does ABC system support

corporate strategy ?

SN SIS T R 2 39 H9Y § a@aiers & haedl o fHfese HIfe |

What is Interim Dividend ? Specify the duties of an auditor in this

regard.
% s TeT ¥ fu s AR w0 § affid weEt # @a § e
Hif |

Explain briefly the steps involved in preparing the budget for an

industrial organization.

Rt AUFRm & WEuE % arid Tk @ e # v Ea Hi e B ogfd
34t s < forelt gEt Hia fit 3T ¥ FA & A9ETEl Bl AT |

State the exceptions to the provision under the Income Tax Act
regarding set-off of loss from one source against income from another

source under the same head.
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10

10

10
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Q2. (a)

CRNA-F-COMA

LLLLLL

319, 2021 % € feafies ok &t feafies & qo-u9 39 v 2 -

u fafire (3) | &t fafirs (2)
I - EfeFrdt va e
1. sunss fafy
(%) A ‘i?ﬁ.
srferspa oft
T 100 fd I 5,00,000 &
T 10 fd I=W e 10,00,000
tgfraa frifia Ooft 5,00,000 4,00,000
(@) 9= ug Irfusy
ISihTa g9 1,00,000 _—
_ A G 35,000 4,00,000
2. Fy=fea efica
gifara o ot 2,50,000
rgfera o 1,00,000 =
3. < IR ’
fafay ser 1,55,000 1,80,000
FA 8,90,000 12,30,000
II - ufaeg et
1. Iyufed giEafat
Tt fmmafoat 4,00,000 8,00,000
g 40,000 1
2. =q it
wih = 1,00,000
I 4,50,000 3,30,000
FA 8,90,000 12,30,000

Wwﬁa%mw%q%ﬁ%@maﬁ%ﬁ%@ﬁm%mmaﬁm
A1 wrafE g Ffefaa saeeenett = wher e mn .

() ufafies i 9@ i gouda T S R
(i) U fafire & goasm $ s=hrn afdr © 20,0002 |
(i) € fafiRs d g% 2 IR F v H IS HET A7
(1) ST W Piea & &9 8 ff fafies & 10 9= ok
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(2)

IR & ATUHR I GHREING FE & 0 ot Tod It fp
T fafies & qe-99 § 9 Ud Yods™ % Hey H EvEs
mm%m,aﬁmﬁzﬁ%gmm%mmwas

AR oI o IR TGI8 |
IR
(D 53 wfawa 1 afgy Fufon w5 @; o
(ID) THWed & o1 1 goq-aa (frgr) weftfa = 2 |
Balance Sheets of A Ltd. and B Ltd. as on March 31, 2021 are as
follows :
' ALtd. (%) | BLtd. (%)
I - Equity and Liabilities :
1. Shareholder’s Funds
(a) Share Capital
Authorised Capital
Share of T 100 each 15,00,000 i
Share of ¥ 10 each i 10,00,000
Issued capital fully paid 5,00,000 4,00,000
(b) Reserve and Surplus
Capital Reserve . 1,00,000 —
General Reserve 35,000 4,00,000
2. Non-Current Liabilities ‘
Secured Loans — 2,50,000
; Unsecured Loans 1,00,000 —
3. Current Liabilities
Sundry Creditors 1,55,000 1,80,000
Total 8,90,000 12,30,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4,00,000 8,00,000
Goodwill 40,000 —
2. Current Assets
Stock —_— 1,00,000
Others 4,50,000 3,30,000
Total 8,90,000 12,30,000
4




(b)
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It was proposed that A Ltd. should be amalgamated in B Ltd. Following
arrangements were accepted by both the companies :

(i) Goodwill of A Ltd. is considered as valueless.
(ii) Arrears of depreciation in A Ltd. amounted to ¥ 20,000.

(iii) The holder of every 2 shares in A Ltd. was to receive :
(1) As fully paid at par, 10 shares in B Ltd.; and

(2) So much cash as is necessary to adjust the right of the
shareholders of both the companies in accordance with the
intrinsic value of the shares as per their balance sheets
subject to necessary adjustments with regard to goodwill and
depreciation in A Ltd’s Balance Sheet.

You are required to :
(I) Determine the composite of purchase consideration; and

(IT) Show the balance sheet after amalgamation.
¥e v fafiee adum o wh T Syfdeal & T 3T T 30 Jfd i
W @lie @ 2 | gfd vl 89 % s s fefafea @ waE ®

frem=m @ g

() 39 3I9HW & fmior ¥ U rd-Teeniord Wi @ld @ @ g WY e
W T 18,00,000 a1f¥es TRt @r@ qur T 12 uid ARl Iwwwm
gitad=a @rTa St |

(i) 39 3YHW H §AW & o€ T T aefiv @lidt @ e s e w
F 30,00,000 a1 Torft @rd qor T 10 gfa faffa Sy afEda
AT AT |

Fr) I arfier HATEvEhdr 5,00,000 IHFAT B hI GHEAT 8 IR 30 914

HET 6,00,000 $HEAT b S hl TRATEHT 8 | Y TETfod A1 IY-TF=ierd

e § A formehl SgwiEn S ? U SYET H AEYIH AT b WY

TehETd IATST | '

Great Ocean Ltd. is currently buying a component from a local supplier

@ T 30 each. As the supply is irregular, the company is considering the

following two proposals :

(i) Buy and install a semi-automatic machine for manufacturing this »

component, which would involve an annual fixed cost of
T 18,00,000 and variable cost of ¥ 12 per manufactured
component.

" (ii) Buy and install an automatic machine for manufacturing this

component, incurring an annual fixed cost of ¥ 30,00,000 and
variable cost of T 10 per manufactured component.
The annual requirement of the company is expected to be 5,00,000 units
and the volume is expected to increase to 6,00,000 units thereafter.
Would you recommend the automatic or semi-automatic machine ?
Justify your recommendation with necessary computations.

g
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Q3. (a)
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ADEMY

c

i o 71 2 2 T W WM W fh R a0 o feoe w e e R, %
a1 Hea 1 Fafia F@ A TfHaT B I T T v |

What is Annual Value ? Illustrate the procedure of computing the
annual value of a house property which is let out throughout the
previous year. 15

T, S U 1 H e 8, 31 °HE, 2021 F GUTE 21 a1 99 Y 31T H
frfafaa faawr yeqa =@ 2

?
R SR 2,88,000
TS Wl ' 57,600
Wmﬁﬁwﬁﬁ(uﬁ%?m)ﬁmmm 40,320
o At d e o1 siveE 40,320
s sifesy fafer (wifede wog) & 9 W = 28,000
TG 24,000

377%7??5213’-77'("

() T R g B HR & T, fes wreE o sem s gegd
=3 fare A e fmar | R e qun wEid % St % faw s
1 T |

Gi) 38 Fremm § R smaE W vem fe mn, e e fei
7 ¥ 2,500 ¥ AT forren feam | 5@ u e 7ot T aragged 99
(-HEIRR) & T HA h ufa fich, e amma wa:
¥ 16,000 AT T 24,000 <ft, F=f% 01.04.2020 i I uferfgd o
A T 9,000 AT T 14,000 T |

(i) T % Sflgd W T 480000@@%%%@33%%?(
T 24,000 1 Sfie sftwr siftem e o |
H-fAgir a9 2021 - 22 F T T % FA Iq1 H TR AT |

X, an employee of a firm, furnished the following particulars of his
income for the year ended March 31, 2021 :

z
Basic Salary 2,88,000
Dearness Allowance 57,600
Own contribution to recognized Provident Fund 40,320
Employer’s contribution to the above fund 40,320
Interest on balance in recognized Provident Fund 28,000
Bonus 24,000



(b)

(c)

Q4. (a)

LRNA-F-LOMA

Additional Information :

(1) X was provided with a small car for which the employer paid all
the running and maintenance costs. The car was used for official
as well as personal purposes.

(i)  He was also provided with rent-free accommodation at Kolkata for
which the employer paid a rent of ¥ 2,500 pm. He was allowed to

use one refrigerator and an air-conditioner costing ¥ 16,000 and
T 24,000 respectively, while their written-down values as on
01.04.2020 were ¥ 9,000 and ¥ 14,000 respectively.

(iii) Life insurance premium of ¥ 24,000 was paid by his employer on
an Insurance Policy for ¥ 4,80,000 on the life of X.

Compute the taxable salary of X for the Assessment Year 2021 — 22.

AGHA WHH-9 % AR TIES Weg ! Te HIfVT | 3 7g1 H1 Fasg A
‘Tore’ wieg # wfifera A€ i St | Wi hit feshl & T9E @ e A=
foerft =fey 2

Explain the term ‘Revenue’ as per AS-9. State the items not included in

the term ‘Revenue’. When should revenue from sale of goods be
recognized ?

IR @i hl JIURN g fogmaradt o Tose Hifse | vt J@r gorett
% @ A 4 fafga = it fod=m Al |

Explain the concept and features of Responsibility Accounting. Discuss
the steps involved in implementing such an Accounting System.

P A e i & s et A Ric e ¥

aft : FNiE@T 5-F 25
g 49 @T 3-TF 12
FE, 2022 FE % AN IcdTed HRHA 7000 IHIFE T HW I oAT; Saifh

T8 ¥ SN aad § 8100 IHISAl 1 Icdted TR TET 9T | 40000 W
gmft & T 1,65,000 % e Hod W S T |

S, 2022 WEH * Iad feeie @ frefafga ofom wma gwoc
gl §ift o WM i — 35800 diE, YAE FH — 17200 =R
— ¥ 59,400 |

I ATt qen oW T & o FfT |
7
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(b)

(c)

LRNA-F-COMA

The following details have been extracted from the cost records of a
company : ‘

Material : 51lbs@ T 5 - < 25

Labour : 4Hrs@<T 3-% 12
The production schedule for the month of January, 2022 required the
completion of 7000 units; however 8100 units were actually produced

during the month. Purchase of materials of 40000 lbs was made at a
total invoice price of ¥ 1,65,000.

Production record for the month of January, 2022 revealed the
following :

Materials requisitioned and used — 35800 lbs, Direct labour — 17200 Hrs
- ¥ 59,400.

Calculate the appropriate material and labour variances.

AGTH T AN a5 & gura shi fqa=mn Shifsm |

Discuss the impact of behavioural sciences on Accounting.

guTel TEYMT Sl AGIIET A T Tk a@edieed g fomm fhr om 9
v@ fogati i foe=m hifvm | '

Discuss the major points to be considered by an auditor while conducting
the audit of charitable institutions.

20
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SECTION B

Q5. FrfeRaa weAl # & Tk 1 I TRIHT 150 Wegt | GG

Answer the following questions in about 150 words each :

(a)

(b)

()

(d)

(e)

Q6. (a)

CRNA-F-COMA

it ity Hrwa-fafor aisa’ i saren ST |

Explain ‘Capital Asset Pricing Model’. _

wrd § fcfr geenstt g g e 9 aret foRedl ate Sifiewt & waw
ST HIT |

Briefly explain any five risks faced by the financial institutions in India.
i fola & aTee wisa i faasmn il |

Discuss Walter’s model of dividend decision.

gsft wrorea Fola & ey #§ wfowa i ag-onaftes q@ T @ Hi foes
i |

Discuss the problem of multiple internal rates of return in relation to
capital budgeting decision.

RUTER! <l Guft Y 3Tfirehan i & Iexd H AT HIWT |

Explain the objective of maximising the wealth of shareholders.

frffaa atfhel & qoM-I3 a1 AT frew daw Hifv :
z

(%) I/ IS | 9,60,000
(@) wrefE geft 3,64,000
(1) o rfiferd 60,000
SfaR® gaare :

(i)  =el U S

(i) cafd U - 15

(iii) ETHea U - 080

(iv) @b @M JAE - 0-20

(v) by TEd U — 4

(vi) oA gy ed - 36T

(vii) ¥&d ISl WY @™ — 10%

M ofife fF #8 owe afierafal af € | e Rt #§ w6,
I T 3R Uhe & HAfais 15 aimmtral & g | sf<m =i
YRR Wi ° 20% e & | T &, T a8 # 360 f7 wF AT |

g

10

10

10

10



(b)
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From the following data, you are required to prepare a Balance Sheet

and a Statement of Profit and Loss : 20
, 4
(a) Share Capital 9,60,000
(b) Working Capital 3,64,000
(c) Bank Overdraft 60,000
Additional information :
1) Current Ratio - 2
(i)  Quick Ratio - 15
(iii) Proprietary Ratio - 0-80
(Fixed Assets/ ’
Proprietary Fund)
(iv)  Gross Profit Ratio - 0-20
(v)  Inventory Turnover Ratio - 4
(vi) Trade Receivables Turnover - 36 days

(vii) Net Profit to Paid-up Capital — 10%

Assume there are no fictitious assets. In the case of current assets, there
are no assets other than inventories, trade receivables and cash. Closing
inventory is 20% higher than the opening inventory. Also assume
360 days in a year.

T ! Al Gft T @ ffafea afifea € -
>
Sferadt IR Ooft - (2 100 3fe W) —  40,00,000
gfearia am — 20,00,000
% AT IR — 20,00,000
7% FO9T —  4,00,000
Fa 84,00,000

mﬁﬁmm%ﬁaﬁw@%moaooaaﬁaﬂm%m
fere ffafaa fasea sgerey € .

() T 259fd IR Siftrm W 40,000 e A #1 frimm

(i)  10% 3femmA AW+ Frtaa

(iii) 8% gl 1 el

g A TR T g R gfrdt IR, iftmm R wE wues fm-diwer H
feufa o Fma/ema (f.3.) EE aw: 21-4, 17 991 157 81 |

e o et oraht oft W 129 ffa et R | SR 1 & 50% |
mmmwmmmmm%mmm
ﬁmﬁmmél
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(c)

Q7. (a)
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Capital structure of a company consists of the following :

z
Equity Share Capital : (Shares of ¥100 each) — 40,00,000
Retained Earning — 20,00,000
8% Preference Shares — 20,00,000
7% Debentures —_ 4,00,000
Total — 84,00,000

The company requires ¥ 50,00,000 to finance the expansion programme
for which the following alternatives are available :
(i) Issue of 40,000 equity shares at a premium of ¥ 25 per share

(i) Issue of 10% Preference Shares

(iii) Issue of 8% Debentures

It is estimated that in the case of equity shares, preference shares and
debentures financing, the PE ratios would be 214, 17 and 15-7
respectively.

Assume the company earns 12% on its capital with the income tax rate
of 50%.

You are required to evaluate the three financing alternatives and
recommend the best alternative suitable for the company.

HET SR &1 8 ? U fohfaa gg1 Sk Y famwand v hifs |

What is money market ? Explain the features of a developed money
market.

T FHE 3O AW Aot S @@ FA F faw T 20 9/ w1 Afafer fam
JeHT IRt B | 38 E (a9 % 39T ¥G T 4,20,000 Yfauria m & w9 A
IS R |
Hfafeen foramor fFreferfiaa € -
()  wodfrEd o — 30%/70%
(i) U H A T 3,60,000 TH — H A T 10% B;
¥ 3,60,000 % 1§ — X d Td 16% B;
(i) iAW AT T 82
(iv) NI YA A HT 50% &
(v) o 8 Infem afg =t 10% @
(vi) Wfd SRR =] 99K goF T 88 R
(vii) A T 50% B
st Afafes fod Jem 2q wfaew, sifafes o it s-averq siwa @rm,
yfaaia 1 it @ra aun awar gt (3fradt) i e v Pt e R

arfafen fora <t swt-avarq wwm wrifra ofwa wmTa &t Tom ot Shifdre |

o

15
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(b)
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A company wishes to raise additional finance of ¥ 20 lakh for meeting
its investment plans. It has ¥ 4,20,000 in the form of retained earnings
available for investment purposes.

Following are the additional details :
1) Debt/Equity mix — 30%/70%
(i)  Cost of debt upto T 3,60,000 is 10% before tax;
Beyond ¥ 3,60,000 is 16% before tax;
(iii) Earnings per shareis ¥ 8
(iv)  Dividend payout is 50% of earnings
(v)  Expected growth rate in dividend is 10%
(vi) Current market price per share is ¥ 88
(vii) Tax rate is 50%
You are required to determine the pattern for raising the additional
finance, the post-tax average cost of additional debt, the cost of retained
earnings and the cost of equity.

Also compute the overall weighted average after-tax cost of additional
finance. ' 20

e fafiee & ffafiea dfira 9oe @@ @ 31 7€, 2022 1 G4 B9 a1
a8 & foU S@T AF®-3 & FTER T fafy & we v faamor daw
Hifs |

Htre g @
(31w, 2022 T AT g AT T4 @ fore) (2 000 ®)
T T
01/04/2021 i Y : 100 Wf‘ﬂﬁﬁfiiﬁ E) edIC] 4,000
éﬁaﬂﬁaﬁwﬁm 600 mﬁmﬁﬁtﬁ@ﬂa 400
ITEh | et 5,600 | 39feTT 400
= ufErafa 6 fash 200 | FIGH TE A 200
T - 500
AT 100
S U T YA 600
31/03/2022 St I 300
6,500 _ 6,500
iz :
ST % YT IS Tehg AU T8l 8 |
/4
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From the following Summary Cash Account of Z Ltd., you are required
to prepare Cash Flow Statement for the year ended March 31, 2022 in

accordance with AS-3 using the Direct method. 15
Summary Cash Account
(for the year ended March 31, 2022) (% in ’000)
L4 %

Balance on 01/04/2021 100 | Payment to suppliers 4,000
Issue of Equity Shares 600 | Purchase of fixed assets 400
Receipts from customers | 5,600 | Overhead expenses . 400
Sale of fixed assets 200 | Wages & Salaries 200
Taxation 500

Dividend - 100

Repayment of bank loan 600

Balance on 31/03/2022 300

6,500 6,500

Note :

The company does not have any cash equivalance.

W(ﬁﬁz)mw@m%?mwbqﬁmaﬁw
Hifvm |

What is corporate restructuring ? Explain the techniques of corporate

restructuring. 15

3



Q8. (a) U fafiRs & =i 9 @l @@ @ goa-ur & wea fafafaa
1A | AR IRATA 56 afY hi TUHT HEA 7 |

TR T ATH-I @rar
(31 |1, 2022 S TETE T AT a6 & ferw) (T AR H)
T ' T
ARIh T fersh ‘ 640
Hl HIA o8 | A<M =i : :
Ftonefia % 60 =l HIA 32
TR T 40 Fmtonefa wr 80
F 480 | AR = 60
LR 50
Fmtor = 30
bl AN 124 |
812 812
HETTT T TS 32 |wwa ™ 124
fosht wd forawor = 16
G ™ 76
124 124

-9 (31 |, 2022 HY) (T T H)

IR s | ofgeafyat >
o gft 600 | 4f% @ WeA 300
kol 320 |9 T Al 480
SIERCRIERCINI 76 | VI :
TGN 84 | = W - 32
fFotonefim v 80
AR T 60
SR 104
T 24
1080 1080
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(i) <Rl 1 Afw A R F IR AT ¥ T 8 W@ A D |
(i) TSR 1 IR Ay T 24 g R |
(i) 3% 3R fasha el IUR & aR W fFe o § )

From the following information as contained in the Trading and Profit &
Loss Account and Balance Sheet of X Ltd., you are required to calculate
the operating cycle period. 20

Trading and Profit & Loss Account
(for the year ended March 31, 2022) (T in lakh)

g T
To Opening Stock : By Sales 640
Raw Materials 28 | By Closing Stock :
Work-in-Process 60 Raw Materials 32
Finished Goods ' 40 Work-in-Process 80
To Purchases 480 Finished Goods 60
To Wages 50
To Manufacturing Expenses 30
To Gross Profit 124
812 812
To Office & Administrative Expenses 32 | By Gross Profit 124
To Selling & Distribution Expenses 16
To Net Profit 76
124 124

CRNA-F-LOMA 4]



(b)

(c) _

LRNA-F-COMA

Balance Sheet (as on March 31, 2022) (¥ in lakh)

Liabilities g Assets g

Share Capital 600 | Land & Buildings 300
Loans 320 | Plant & Machinery 480

Profit & Loss Account 76 | Stocks :
Creditors 84 Raw Materials 32
Work-in-Process 80
Finished Goods 60
Debtors 104
Cash 24
1080 * 1080

Additional Information :

(i) Closing balance of debtors is ¥ 8 lakh more than the opening
balance of debtors.

(ii) Opening balance of creditors is ¥ 24 lakh.

(iii) Purchases and sales are made on credit basis only.

_@h%aﬁmmﬁaﬁﬁméﬁﬁ%@maﬁﬁéﬂmﬁﬁm

Discuss the role of commercial banks in the economic development of a
country. ' 15

TffRrT T firer dies (T WS TH Aied) % IIER SF-TUA NihA
T I |
Explain the Arbritrage process as per the M&M Model. 16
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